© 2019 BMW AG 507550

Tank Trim

4 = two M5x14 w/shoulder (small), plastic washer
5 = two M5x17 w/shoulder (large), plastic washer
7 = one M6x24 w/shoulder

9 = four M5x12 w/o shoulder



g g
L Ia
© 2016 BMW AG ﬁ

Left storage compartment
6 = two M5x17 w/shoulder (large), plastic washer
7 = one M5x14 w/shoulder (small), plastic washer

0

5

o\

452056



Right storage compartment
8 = two M5x17 w/shoulder (large), plastic washer
9 = one M5x14 w/shoulder (small), plastic washer



2014 BMW AG

Tail Trim
5 = six M5x14 w/shoulder (small), plastic washer
7 = two M5x17 w/shoulder (large), plastic washer



© 2019 BMW AG 505148

Engine Guards
3 = two M5x17 w/shoulder (large), plastic washer
4 = three M5x14 w/shoulder (small), plastic washer




Knee covers
3 = two M5x17 w/shoulder (large), plastic washer
5 = eight M5x14 w/shoulder (small), plastic washer



